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Multiplication Word Problems

13 There are 44 children in the classroom, each student will get 1 dozen pencils
and twio dozen erasers. How many pencils will the teacher have to give out 7

23 keith has saved one dozen quarters fram washing cars.
Howy much money does keith have 7

33 Sambought one dozen eggs from the grocery store to bake some cakes.
Howy many edds did Sam buy 7

43 There are 2 dozen calories in a candy bar. Jason ate 8 candy bars.
Howy tmany calaries are there in 21 candy bars ?

53 Joan has 2 dozen books and she hasread 1 of them. Alyssa has
& titme s more books than Joan. How many books does Alyssa have 7

B3 Tomhas 2 dozen blue balloons. Tim has 2 times more blue balloons
than Tom. How many blue balloons does Tim have ?

¥ Fred earns $25.00 for each house he cleans, but doesn't work on Saturday or Sunday.
If he cleans sk dozren houses, how much money will he make 7

23 Benny, Sally, Sam, and keith each have six dozen Pokemon cards.
How many Pokemon cards do they hawve in all ?

9% Tim saw five dozen hirds, and ane dozen rabbits on his field trip.
Howe rmany hirds did Tim see ?

100 keith has 15 dozen golf balls.
Howy rmany golf balls does he have 7
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